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Part 'A’
Attempt any ten questions: 10x2= 20
(0 Evaluate [ x*dx
(i) Find [(e® + 3x)dx
(i) Determine the period of tan(d4nx—3)
(iv) Evaluate [(x* + 5)dx
r=1
(v) Evaluate | _ |x|dx
(i) fU={nn< 10 ,ne N }be the universal setand A={2n:n< S.neN) find A
2 3] 4 5 6 ? H 9 10 .
(vii) Writetheset{l,=.C.5.5:77'73'15 17 "19 Jin the set builder form
, £ | [l dx
(vim) valuate |, 7%
(ix) If f(x)isanodd function defined in the interval [-a .a] , write the Fourier
coefficients which reduce to zero in the Fourier expansion of f(x).
(x) How many ordinates are required to evaluate a definite integral by Simpson’s one-
third rule taking 10 equal interval?
(xij Obtainay inthe Fourier expansion of f(x) = |sinx| , ifxE [-m ]
or { -
(xil) e )=
-1 1
(xiit) Evaluate L™ { -s—:j:}
1 =
(dv) IFL{f(t)]} =7 then fit)= ————
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2 Attemngnt any § questions

(i)

;’..-‘,"r} r (4 r? ydx
Find |(cosx inx jdx
W A 1.2 4.5 7 B 23678 —1s 345 7.5
verify that (BuC) A Byn (A P
Evaluate | (o niy & beos ridz
' v .y - - 1 4 - o Yt o b -— -
cLeTMine w e Ogivl + X o Eye - o S 3
Jeterr the olace tranctorem of Y Y.

PART-B

Artompt any 3 questions

»13)

(b)

(D)

(a)

(b)

(a)

(b)

’

Find J - dx
X +1
- £ - -
Obtain the Fourier series Lo repre nt the function fix) = |x or - % 5
Hence, deduce that =1+ e e T
g 5 7
(%1% (1 & gir A
Evaluate | (1 inx) dx .~
Develop the Fourner seri frr the ! rton flx = - y defined in the interval [0, 2x
lop s
Determine the Laplace Transform of sin’ (at) using the Laplace transform of derivative
|
+ sinax)
Evaluate ) ( S ey Lo
’ ¥ +3a
Evaluate | 3e" + 5 ginx + tanlx) dx 3
e
Using Simpson's one-third rule, find the approximate vaiue of the intergral
). 3 ako - ol Shna
e L dx taking 6 equal intervals, Hence, obtain an approximate vaiue o1 Og.2
1 +x
1

There are 70 people in 2 group out of which 45 speak Hindi language and 33 speak
nd 10 speak neither Hindi nor English. How many speak both

anguage?

English langua

Hindi as

well as English 7 How many S$peax on 1{r‘€il'.’1
. g
ee cosine series of the function =x,for0<x<x

Obtain the half-range

""

] .
x : 1 1 1 %

Hence, show that ~ - = 7
12 2 3 4
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